M w0 Diffrunhdl Gquahions (Applica Hatlewaklod Adshigsis 1)
Towfn Makw Yo ph- A Cst cuuy - edan
weh ?:L%L : w.wafh.cs{.wu«j-wﬁ/“’ wale s

a’{’\\'m., R T, TR T t{’f'l'u. bas M Y40 -Cl20
w  Y4i4%e-4:30

— waaita ‘}u’w\wj As-2U\4%
™ s\“‘yMb it “suisabiihies 7 ;
Ttk Advangd  Ergusing Mattevshics | O'nN2il
. wmors [ quivtes
eguation - x4+ = 0

T

SeLU\hM VTV IS Y '3

ootk cquedion = A4, o oo slubien fwweion u(x)

4%

ux&u\h'FmChQ'- M&Ms(@wq&: fong Tt) W\L‘(f

Ao ne A w - ) —_
hiny it b ol T - AT
Mhuﬁg}&hﬂ) .
F we Wien wilias we cansdaelr it wbs -

xe Lakl= o i“va'- x= -\ G 2-)+1 = t—Z-f[:O\/.

al _ o At
d)o'?\T‘ ot t%}’ fari R VL

5\'va m“‘ffM‘.
Dlt A dioeatil equehin & gpie A g6y

E‘mms& %‘: =1y V\ﬁ"\'@éﬂu{lu é:’lj = Y







9() = 2 ©
fud  quesk  sildian 4‘3“4;1' Wi 220 0 7= Aoy 422
sty = 2t

s Ty iy



B R o 3 ol

afe 3 caliv) « luuwm-uﬂw“
- R(T4) |
i g Bl o diad by b oo, w0 BE it
fompedue BIF. Hie by bowe fly hoew dnd 7 Raie  womnet
\mbj }w-\(m.lw iy  WF.

i
a7
ok

A= ()
f_g.;: [k
Lo \'(-"ibl = btec
Ty o R0
T= Jo+ A
wail Wkt au s, Wassure ka appdu k=20, T=75
k-0 : fo= Fo4+Ae => A=10
k=30 * ¥5= :fD-PlO-ekjo > S = [Oe,"‘o‘L
_%- : e,‘wk
QP‘(,({’L): Wk \
) = :Joﬂo:/m © ) = T
b bk T= K T
5= 7o + Loéj%"’ by v L (27) & Y4
28 = (o¢ apgt 4V s



L Livess <opasdians ®

Nefe A fu oo cfoetal tqudi & Linser i lan He s
1+ Py = qfk)

7 oo of <

N Dveesr L\'-c °\1 S e 1‘4» 'xluj -1

by v fpluak e @tb)'~ dbeab

(fj"‘)" u]a+ 30\
AW . M\hp'a-j \7«9 &kd\“- 0 we lhawe a %?de

- wle ﬂf-)) _ ‘H‘L)' B (1) wasd )= ?(1) _

) - Sp(x) AT .
W2 e iapli R Byl gz g ( Seeue _ aﬂ
Mu\h\]\:) §jle) A | j~ 31 o [

o + (v) = (‘X.) .
i BRI v e 4

1

S‘wm ) 500 afe)

Q’)(“') W e
3(‘1) Yy = jg(x) afr) dic ¢
‘ £
97 9w Jatoptide « i



